SSC CHSL 2023 Tier 1 August 17 Shift 2 Question Paper with Answers
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Section : English Language

Q.1 Select the most appropriate ANTONYM of the underlined word in the given sentence.
Everyone feels that he is pompous, but | know the underlying truth that he is a man of
great understanding and love.

Ans 1. Modest
2. Lofty
3. Grandiose

4. Haughty

Question ID : 264330143229
Status : Answered
Chosen Option : 2

Q.2 Select the INCORRECTLY spelt word.

Ans 1. Souvenir
2. Symbolise
3. Suseptible

4. Sympathetic

Question ID : 264330143240
Status : Answered
Chosen Option : 1

Q.3 Select the grammatically correct version of the following sentence.
He was youngest than his brother.
Ans 1. He was younger than his brother.
2. He was youngest to his brother.
3. He was too young than his brother.

4. He was young to his brother.

Question ID : 264330144327
Status : Answered
Chosen Option : 1




Q.4 Select the most appropriate ANTONYM of the underlined word in the given sentence.

We were very much enthusiastic about our tour to Agra.
Ans 1. obsessed

2. anxious
3. casual

4. inclined

Question ID : 264330144256
Status : Answered
Chosen Option : 3

Q.5 Select the option that correctly expresses the following sentence in active voice.

This was talked about in the meeting by the officers.
Ans 1. The officers were talking about in the meeting.

2. The officers talked about this in the meeting.
3. The officers in the meeting had talked about it.

4. The officers talk about this in the meeting.

Question ID : 264330144335
Status : Answered
Chosen Option : 2

Q.6 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

From arecent research, evident is it that a lot more women have been opting for
professional courses.

Ans 1. it is evident that more a lot women
2. itis evidently that a lot more women
3. it is evident that a lot more women

4. it is evidence that a lot more women

Question ID : 264330144099
Status : Answered
Chosen Option : 3

Q.7 Select the most appropriate synonym of the word ‘Bleak’ from the given sentence.

He looked gloomy, frail, broken and slow after the sudden demise of his brother.
Ans 1. slow

2. gloomy
3. frail

4. sudden

Question ID : 264330144308
Status : Not Answered
Chosen Option : --




Q.8 Select the correct spelling from the given options to fill in the blank.
Mihika was one of the in the Master Chef competition held in our

society last year.
Ans 1. contextants

2. contestents
3. contestants

4. kontestants

Question ID : 264330141316
Status : Answered
Chosen Option : 3

Q.9 Select the most appropriate ANTONYM of the given word.

Elusive
Ans 1. Explosive
2. Affordable
3. Definite
4. Rigid

Question ID : 264330142631
Status : Answered
Chosen Option : 3

Q.10 Select the option that expresses the given sentence in passive voice.
The students must complete the assignment by Friday.

Ans 1. The assignment must be completed by the students by Friday.
2. The assignment will be completed by the students by Friday.
3. The students will have completed the assignment by Friday.

4. The assignment must be complete by Friday by the students.

Question ID : 264330149481
Status : Answered
Chosen Option : 1

Q.11 Select the option that can be used as a one-word substitute for the underlined group
of words.

Kidney beans were boiled quickly when Nisha added a substance that speeds up a
chemical reaction without being_ consumed by the reaction itself.

Ans 1. reactant
2. catalyst
3. enzyme

4. solute

Question ID : 264330144145
Status : Answered
Chosen Option : 2




Q.12 Select the most appropriate option to fill in the blank.

Sarah just gave to a baby boy.
Ans 1. birth

2. breath
3. broth
4. berth

Question ID : 264330148958
Status : Answered
Chosen Option : 1

Q.13 Select the most appropriate option that can substitute the underlined segment in the
given sentence.

My mother asked my father to increase her personal use allowance.

Ans 1. pell mell
2. rank and file
3. pins and needles

4. pin money

Question ID : 264330144125
Status : Not Answered
Chosen Option : --

Q.14 Select the most appropriate ANTONYM of the given word.
Repeal
Ans 1. Approval
2. Expense
3. Separation

4. Adversity

Question ID : 264330142633
Status : Not Answered
Chosen Option : --

Q.15 Parts of a sentence are given below in jumbled order. Arrange the parts in the correct
order to form a meaningful sentence.
(O) on aregular basis can improve
(P) engaging in physical activity
(Q) the risk of chronic diseases, and boost mental health
(R) cardiovascular health, reduce

Ans 1. RPOQ
2. PROQ
3. PORQ
4. OQRP

Question ID : 264330144201
Status : Answered
Chosen Option : 3




Q.16 Parts of a sentence are given below in jumbled order. Select the option that arranges
the parts in the correct order to form a meaningful sentence.

A) to his neighbours
B) first name is Adam
C) that no one even
D) heis so rude

E) knows that his

Ans 1.D,A,C,E B
2.B,D,A C E
3.A,C,B,D, E
4.C,E,B,A D

Question ID : 264330143919
Status : Answered
Chosen Option : 1

Q.17 The following sentence has been split into four segments. Identify the segment that

contains a grammatical error.
When | was in 5th grade, / | use to / ride on my / red bicycle.

Ans 1. red bicycle
2. luseto
3. When | was in 5th grade,

4. ride on my

Question ID : 264330149888
Status : Answered
Chosen Option : 2

Q.18 Select the most appropriate idiom for the following statement.
The manager was punished for his negligence in work.
Ans 1. Bid defiance
2. Burn one’s boats
3. Bolt from the blue

4. Bring to book

Question ID : 264330149545
Status : Not Answered
Chosen Option : --

Q.19 Select the most appropriate option that can be used as a one-word substitute for the
underlined segment in the following sentence.

As | walked through the old town, | couldn’t help but feel a sentimental longing for the
simpler times of my childhood.

Ans 1. affection
2. homesickness
3. inertia

4. nostalgia

Question ID : 264330148909
Status : Answered
Chosen Option : 4




Q.20 Select the option that can be used as a one-word substitute for the given group of
words.
Collection of written or spoken texts

Ans 1. Data bank
2. Dictionary
3. Corpus

4. Circa

Question ID : 264330149863
Status : Answered
Chosen Option : 3

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The entertainment (1) built by Walt Disney is sometimes called the ‘House of Mouse’
in acknowledgment of the leading role played by Disney’s most famous creation, Mickey
Mouse. Mickey’s round mouse ears, either in silhouette or adorning a hat, have become one
of the most (2) corporate logos in the world. But if a few business decisions in the
1920s had gone differently, they could have been rabbit ears.

In the mid-1920s Disney was a young (3) producing a series called the Alice
Comedies, short films that combined live-action footage with animated images so that human
actors appeared to interact with cartoon characters. But he had grown tired of the series and
wanted to move on to making completely animated films. In 1927 he got his wish, (4)

a deal with Universal to produce a new series based on the adventures of a character called
Oswald the Lucky Rabbit. Both the name and the species of the character had been picked
by Universal—Oswald’ was (5) picked out of a hat of names, and the character was
made a rabbit because there were already too many cartoon cats on the market.

SubQuestion No : 21
Q.21 Select the most appropriate option to fill in blank number 1.
Ans 1. empire

2. power
3. province

4. country

Question ID : 264330149570
Status : Answered
Chosen Option : 1




Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The entertainment (1) built by Walt Disney is sometimes called the ‘House of Mouse’
in acknowledgment of the leading role played by Disney’s most famous creation, Mickey
Mouse. Mickey’s round mouse ears, either in silhouette or adorning a hat, have become one
of the most (2) corporate logos in the world. But if a few business decisions in the
1920s had gone differently, they could have been rabbit ears.

In the mid-1920s Disney was a young (3) producing a series called the Alice
Comedies, short films that combined live-action footage with animated images so that human
actors appeared to interact with cartoon characters. But he had grown tired of the series and
wanted to move on to making completely animated films. In 1927 he got his wish, (4)

a deal with Universal to produce a new series based on the adventures of a character called
Oswald the Lucky Rabbit. Both the name and the species of the character had been picked
by Universal—'Oswald’ was (5) picked out of a hat of names, and the character was
made a rabbit because there were already too many cartoon cats on the market.

SubQuestion No : 22
Q.22 Select the most appropriate option to fill in blank number 2.
Ans 1. visible

2. measurable
3. notifiable

4. recognisable

Question ID : 264330149571
Status : Answered
Chosen Option : 4

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The entertainment (1) built by Walt Disney is sometimes called the ‘House of Mouse’
in acknowledgment of the leading role played by Disney’s most famous creation, Mickey
Mouse. Mickey’s round mouse ears, either in silhouette or adorning a hat, have become one
of the most (2) corporate logos in the world. But if a few business decisions in the
1920s had gone differently, they could have been rabbit ears.

In the mid-1920s Disney was a young (3) producing a series called the Alice
Comedies, short films that combined live-action footage with animated images so that human
actors appeared to interact with cartoon characters. But he had grown tired of the series and
wanted to move on to making completely animated films. In 1927 he got his wish, (4)

a deal with Universal to produce a new series based on the adventures of a character called
Oswald the Lucky Rabbit. Both the name and the species of the character had been picked
by Universal—'Oswald’ was (5) picked out of a hat of names, and the character was
made a rabbit because there were already too many cartoon cats on the market.

SubQuestion No : 23
Q.23 Select the most appropriate option to fill in blank number 3.
Ans 1. artisan

2. craftsman
3. animator

4. miniaturist

Question ID : 264330149572
Status : Answered
Chosen Option : 3




Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The entertainment (1) built by Walt Disney is sometimes called the ‘House of Mouse’
in acknowledgment of the leading role played by Disney’s most famous creation, Mickey
Mouse. Mickey’s round mouse ears, either in silhouette or adorning a hat, have become one
of the most (2) corporate logos in the world. But if a few business decisions in the
1920s had gone differently, they could have been rabbit ears.

In the mid-1920s Disney was a young (3) producing a series called the Alice
Comedies, short films that combined live-action footage with animated images so that human
actors appeared to interact with cartoon characters. But he had grown tired of the series and
wanted to move on to making completely animated films. In 1927 he got his wish, (4)

a deal with Universal to produce a new series based on the adventures of a character called
Oswald the Lucky Rabbit. Both the name and the species of the character had been picked
by Universal—'Oswald’ was (5) picked out of a hat of names, and the character was
made a rabbit because there were already too many cartoon cats on the market.

SubQuestion No : 24
Q.24 Select the most appropriate option to fill in blank number 4.
Ans 1. striking

2. crossing
3. bewitching

4. possessing

Question ID : 264330149573
Status : Answered
Chosen Option : 1

Comprehension:

In the following passage some words have been deleted. Read the passage carefully and
select the most appropriate option to fill in each blank.

The entertainment (1) built by Walt Disney is sometimes called the ‘House of Mouse’
in acknowledgment of the leading role played by Disney’s most famous creation, Mickey
Mouse. Mickey’s round mouse ears, either in silhouette or adorning a hat, have become one
of the most (2) corporate logos in the world. But if a few business decisions in the
1920s had gone differently, they could have been rabbit ears.

In the mid-1920s Disney was a young (3) producing a series called the Alice
Comedies, short films that combined live-action footage with animated images so that human
actors appeared to interact with cartoon characters. But he had grown tired of the series and
wanted to move on to making completely animated films. In 1927 he got his wish, (4)

a deal with Universal to produce a new series based on the adventures of a character called
Oswald the Lucky Rabbit. Both the name and the species of the character had been picked
by Universal—'Oswald’ was (5) picked out of a hat of names, and the character was
made a rabbit because there were already too many cartoon cats on the market.

SubQuestion No : 25
Q.25 Select the most appropriate option to fill in blank number 5.
Ans 1. apparently

2. anatomically
3. reasonably

4. outwardly

Question ID : 264330149574
Status : Answered
Chosen Option : 1

Section : General Intelligence




Q.1

Ans 1. ﬁ
2. bi
3. di
4 Question ID : 264330146347
Status : Answered
Chosen Option : 2
Q.2
Ans 1L XXBXXBXB
2. XBXBXBXX
3. BEXXBXXX
4. BXXXBEBEB Question ID : 264330150472
Status : Answered
Chosen Option : 1
Q.3
Ans 1.
2.
3.
4.
Question ID : 264330147258
Status : Answered
Chosen Option : 4
Q.4
Ans 1. 136
2. 132
3. 124
4. 116 Question ID : 264330146990

Status : Answered
Chosen Option : 3




Q5

Ans 1.
2.
3.
Question ID : 264330147364
4. Status : Not Answered
Chosen Option : --
Q.6
Ans . 139
- 132
- 143
Question ID : 264330147432
Status : Answered
Chosen Option : 3
Q.7
Ans 1.
2.
3.

Question ID : 264330146672
4. Status : Answered
Chosen Option : 2




QS8

Ans
Question ID : 264330147132
Status : Answered
Chosen Option : 4
Q.9
Ans 1
2.
3.
Question ID : 264330152113
4. Neither conclusion (I) nor (IT) follows Status : Answered
Chosen Option : 3
Q.10
Ans

Question ID : 264330146736
Status : Answered
Chosen Option : 3




Q.11

Ans 1. 79
2.
s Question ID : 264330146397
4. Status : Answered
Chosen Option : 3
Q.12
Ans 1.
2.
3.
4. Question ID : 264330146748
Status : Not Answered
Chosen Option : --
Q.13
Ans 1. ]
212
39
411

Question ID : 264330151078
Status : Answered
Chosen Option : 1




Q.14

Ans

T 0O =

1. 0O
S A 2
S O T

2. 2
A 0O B
O O S

2 2
A T B
2 T B

4 O

Question ID : 264330151187
S Status : Not Answered
Chosen Option : --

I
o

Q.15 The second number in the given number pairs is obtained by performing certain mathematical operation(s) on the first
number. The same operation(s) are followed in all the number pairs except one. Find that odd number pair.

(NOTE: Operations should be performed on whole numbers, without breaking down the numbers into their
constituent digits. E.g. 13 — Operations on 13 such as adding/ subtracting /multiplying, etc. to 13 can be performed.
Breaking down 13 into 1 and 3 and then performing mathematical operations on 1 and 3 is not allowed.)

Ans 1.21:100

2.19:88

3.13:64 Question ID : 264330150854
Status : Answered
417 :80 Chosen Option : 1




Q.16

Ans 1. mp
2. IC
3. &P
4. ho Question ID : 264330146763
Status : Answered
Chosen Option : 1
Q.17
Ans 1.
2.
3.
4.,
Question ID : 264330147254
Status : Answered
Chosen Option : 2
Q.18
Ans 1.
2.121
3.
4. 11? Question ID : 264330146427
Status : Answered
Chosen Option : 4
Q.19
Ans 1. 74
2.
3. 70
4,

Question ID : 264330147354
Status : Answered
Chosen Option : 3




Q.20

Ans

Question ID : 264330146476
Status : Answered
Chosen Option : 3




Q.21 Read the given statements and conclusions carefully. You have to take the given statements to be true even if they
seem to be at variance from commonly known facts. You have to decide which conclusion/s logically and definitely
follow/s from the given statements.

Statements: All Fingers are Hands. Some Hands are Seconds. All Seconds are Clocks.
Conclusions: (1) Some Clocks are Hands.
() Some Fingers are Clocks.
Ans 1. Both conclusions (1) and (11) follow.
2. Both conclusions (1) and (1) do not follow.
5 .
Only conclusion (1) follows. Question ID : 264330151163
4. Only conclusion (I1) follows. Status : Answered
Chosen Option : 3
Q.22
Ans 1.
2.
3.
4,
Question ID : 264330147087
Status : Not Answered
Chosen Option : --
Q.23
Ans 1L IDOK
2. KFPM
3. JEOL
4. TEPN Question ID : 264330151978

Status : Answered
Chosen Option : 3




Q.24

Ans 1.
2.
3.
4 Question ID : 264330146980
' Status : Not Answered
Chosen Option : --
Q.25
Ans 1.
2.
3.
4. Six

Question ID : 264330146881
Status : Answered
Chosen Option : 3

Section : Quantitative Aptitude

Q.1

Ans 136,000

2. 26,500
3. 35,560
4. 27,000 Question ID : 264330149419
Status : Answered
Chosen Option : 1
Q.2
Ans 1
2.
3.
4.

Question ID : 264330148183
Status : Answered
Chosen Option : 4




Q.3

Ans 1.
2.
3.
4.
Question ID : 264330148401
Status : Not Answered
Chosen Option : --
Q.4
Ans 1.
2.
3.
4. Question ID : 264330146514
Status : Answered
Chosen Option : 3
Q.5
Ans 1.
2.
3.
4. Question ID : 264330147684
Status : Not Answered
Chosen Option : --
Q.6
Ans 1.%3,500
2.%3,700
3.%3,800
4.%3,780 Question ID : 264330147625

Status : Answered
Chosen Option : 4




Q.7

Ans

Question ID : 264330149066
Status : Not Answered
Chosen Option : --

QS8

Ans

Question ID : 264330148003
Status : Answered
Chosen Option : 1

Q.9

Ans

Question ID : 264330146810
Status : Not Answered
Chosen Option : --




Q.10 The sum of money at simple interest amounts toZ750 in 3 years and to 825 in 4 years. The sum is:

Ans 1 2475
2. 500
3. 550
4. F525
Question ID : 264330151365
Status : Answered
Chosen Option : 4
Q.11
Ans
1.
2.
3.
4. Question ID : 264330148013
Status : Answered
Chosen Option : 3
Q.12
Ans 1.
2.
3.
4,
Question ID : 264330147639
Status : Not Answered
Chosen Option : --
Q.13
Ans 1. cosA
2.
1
3.
sind
1
4,
cotA

Question ID : 264330147984
Status : Answered
Chosen Option : 3




Q.14

Ans
1.
2.
3.
4,
Question ID : 264330148390
Status : Not Answered
Chosen Option : --
Q.15
Ans 1. 18
2.9
3. 24
4.12
Question ID : 264330147688
Status : Answered
Chosen Option : 2
Q.16
Ans 1. 16
2. 14
3.
4. 12 Question ID : 264330147763

Status : Answered
Chosen Option : 1




Q.17

Ans 1. 7(0°
2. hge
3. 60°
4 65°
Question ID : 264330148825
Status : Answered
Chosen Option : 4
Q.18
Ans 1.
2.
3.
4. Question ID : 264330147706
Status : Answered
Chosen Option : 2
Q.19
Ans 1. 698
2. 612
3. 584
4. 672

Question ID : 264330147779
Status : Not Answered
Chosen Option : --




Q.20

Ans 1.
2. 22,95
Question ID : 264330149265
s Status : Not Answered
4. Chosen Option : --
Q.21
Ans
1.
2.
3.
4.

Question ID : 264330147767
Status : Answered
Chosen Option : 2




Q.22

Ans 1. 280%
2. 400%
Question ID : 264330149062
3. 0
350% Status : Not Answered
4. 300% Chosen Option : --
Q.23
Ans
1. 25p? —9q% + 30 pq
2. 25p? — 9g?
3. 25p? + 9¢*
4. 25p* +9q* — 30 pq
Question ID : 264330148114
Status : Answered
Chosen Option : 2
Q.24
Ans 1.
2.
3. Question ID : 264330146818
4. Status : Not Answered

Chosen Option : --




Q.25

Ans 1.

Question ID : 264330148284
Status : Not Answered
Chosen Option : --

Section : General Awareness

Q1
Ans 1.
2.
3.
4,
Question ID : 264330145683
Status : Answered
Chosen Option : 2
Q.2
Ans 1.
2.
3.
4,
Question ID : 264330146549
Status : Not Answered
Chosen Option : --
Q.3
Ans 1
2.
3.
4,

Question ID : 264330144678
Status : Not Answered
Chosen Option : --




Q.4
Ans 18
2.2
35
4. 7

Question ID : 264330149387
Status : Answered
Chosen Option : 4

Q-5 Chaitrual and Phulaich are the festival of which of the following states?

Ans 1.
2. Gujarat
3. Uttarakhand
4. Haryana
Question ID : 264330148667
Status : Not Answered
Chosen Option : --
Q.6
Ans 1.
2.
3.
4.
Question ID : 264330145757
Status : Not Answered
Chosen Option : --
Q.7
Ans 1.
2.
3. Question ID : 264330145872

Status : Not Answered
4. Chosen Option : --




QS8

Ans

Question ID : 264330144737
Status : Answered
Chosen Option : 1

Q.9

Ans

Question ID : 264330145911
Status : Answered
Chosen Option : 4

Q.10

Ans

Question ID : 264330150150
Status : Answered
Chosen Option : 1

Q.11

Ans

Question ID : 264330146126
Status : Answered
Chosen Option : 3




Q12 Who among the following was the disciple of Ramakrishna Paramahansa?

Ans 1
2.
3.
4.
Question ID : 264330150235
Status : Answered
Chosen Option : 3
Q.13
Ans 1
2.
3.
4.
Question ID : 264330149395
Status : Not Answered
Chosen Option : --
Q.14
Ans 1.
2. Foundational Literacy and Numeracy
3.
4.
Question ID : 264330146251
Status : Answered
Chosen Option : 1
Q.15
Ans 1.
2. Krishna
3.
4. Cauvery

Question ID : 264330150266
Status : Not Answered
Chosen Option : --




Q.16

Ans
3.
Question ID : 264330150368
Status : Answered
Chosen Option : 1
Q.17
Ans 1.
2.
3.
4.,
Question ID : 264330144774
Status : Answered
Chosen Option : 1
Q.18
Ans 1.
2.
3.
4.,
Question ID : 264330145632
Status : Not Answered
Chosen Option : --
Q.19
Ans 1
2. Sushila Devi
3. HS Prannoy
4.

Question ID : 264330150081
Status : Not Answered
Chosen Option : --




Q.20

Ans 1 6
2. 4
3. 3
4.5
Question ID : 264330150424
Status : Not Answered
Chosen Option : --
Q.21
Ans 1. Ethynyl
2.
3. Vinyl
4. Allyl
Question ID : 264330150721
Status : Answered
Chosen Option : 1
Q.22
Ans L. Mir Saman
2. Mir Bahri
3. Mir Bakshi
4.
Question ID : 264330150096
Status : Not Answered
Chosen Option : --
Q.23
Ans 1
2.

3. Devineni Srikanth

4. Fajaru Nasik

Question ID : 264330154818
Status : Not Answered
Chosen Option : --




Q.24

Ans 1.
2.
3.
4.
Question ID : 264330145798
Status : Not Answered
Chosen Option : --
Q.25
Ans 1.
2.
3.
4. Question ID : 264330145603

Status : Not Answered
Chosen Option : --
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